MATHEMATICAL MODELLING AND ANALYSIS Volume 18 Number 1, February 2013, 97–102 http://dx.doi.org/10.3846/13926292.2013.758674 © Vilnius Gediminas Technical University, 2013

 ${\bf Publisher:~Taylor\&Francis~and~VGTU} \\ {\bf http://www.tandfonline.com/TMMA} \\$ 

Print ISSN: 1392-6292 Online ISSN: 1648-3510

# General Control Modulo and Tauberian Remainder Theorems for (C, 1) Summability\*

### Olga Meronen and Ivar Tammeraid

 $Tallinn\ University\ of\ Technology$ 

19086 Tallinn, Estonia

E-mail(corresp.): Olga.Meronen@ttu.ee

E-mail: Ivar.Tammeraid@ttu.ee

Received June 22, 2012; revised December 8, 2012; published online February 1, 2013

**Abstract.** We prove for the (C,1) summability method several Tauberian remainder theorems using the general control modulo of the oscillatory behavior.

**Keywords:**  $\lambda$ -bounded series, summability by (C,1) method, general control modulo of the oscillatory behavior, Tauberian remainder theorems.

AMS Subject Classification: 40C99.

#### 1 Introduction

A sequence  $x = \{\xi_n\}$  is called bounded with the rapidity  $\lambda = \{\lambda_n\}$   $(0 < \lambda_n \uparrow \infty)$  if  $\lambda_n(\xi_n - \xi) = O(1)$  with  $\lim \xi_n = \xi$ . Let

$$m^{\lambda} = \{x \mid x = \{\xi_n\} \wedge \lim \xi_n = \xi \wedge \lambda_n(\xi_n - \xi) = O(1)\}.$$

A sequence  $x = \{\xi_n\}$  is called  $\lambda$ -bounded by Cesàro method (C,1) if (C,1)x is  $\lambda$ -bounded. That means

$$\lambda_n (\sigma_n(x) - \sigma(x)) = O(1) \tag{1.1}$$

with

$$\sigma_n(x) = \frac{1}{n+1} \sum_{k=0}^n \xi_k \wedge \lim_{n \to \infty} \sigma_n(x) = \sigma(x).$$

Shortly we note this fact

$$x \in \left( (C, 1), m^{\lambda} \right). \tag{1.2}$$

<sup>\*</sup> This research was supported by the Estonian Science Foundation, grant 9383, and by the Estonian Min. of Educ. and Research, project SF0140011s09.

G. Kangro [7] and I. Tammeraid [9] proved several Tauberian remainder theorems for method (C, 1) using summability with given rapidity. For example see one of them in [9].

**Proposition 1.** If the sequences x and  $\lambda$  satisfy the conditions (1.2),

$$n\lambda_n \Delta \xi_n = O(1), \tag{1.3}$$

where

$$\Delta \xi_n = \begin{cases} \xi_n - \xi_{n-1}, & n \in \mathbf{N}, \\ \xi_0, & n = 0, \end{cases}$$

and

$$\frac{\lambda_n}{n+1} \sum_{k=0}^{n} \frac{1}{\lambda_k} = O(1), \tag{1.4}$$

then  $x \in m^{\lambda}$ .

If we study the condition (1.4) in the case  $\lambda_n = (n+1)^{\alpha}$ , we get that  $\alpha$  has to satisfy the condition  $0 < \alpha < 1$ . That means we are not able to use the Tauberian remainder theorems proved by G. Kangro and I. Tammeraid in the case  $\lambda_n = (n+1)^{\alpha}$  with  $\alpha \ge 1$ . Therefore we are interested in the presentations of G. H. Hardy [6], E. Landau [8], M. Dik [5], İ. Çanak, Ü. Totur and M. Dik [1, 2, 3, 4, 10, 11]. Firstly this concept was used in the paper [5]. So we prove several new Tauberian remainder theorems for (C, 1).

## 2 Tauberian Remainder Theorems for (C, 1)

Let **N** be the set of all natural numbers and  $\mathbf{N}_0 = \mathbf{N} \cup \{0\}$ . The classical control modulo of the oscillatory behavior of the sequence  $\{\xi_n\}$  is denoted by

$$\omega_n^{(0)}(x) = n\Delta \xi_n. \tag{2.1}$$

The general control modulo of the oscillatory behavior of order  $m \in \mathbb{N}$  of sequence x is defined by

$$\omega_n^{(m)}(x) = \omega_n^{(m-1)}(x) - \sigma_n(\omega^{(m-1)}(x)) \quad (m \in \mathbf{N} \text{ and } n \in \mathbf{N}_0).$$
 (2.2)

G.H. Hardy [6] proved that the condition  $\omega_n^{(0)}(x) = O(1)$  is a Tauberian condition for the (C,1) summability method.

E. Landau [8] extended Hardy's Tauberian condition as follows

$$\omega_n^{(0)}(x) \ge -M \quad (n \in \mathbf{N}_0) \tag{2.3}$$

for some M > 0.

M. Dik [5] showed that the condition (2.3) in E. Landau's statement can be replaced by the condition

$$\omega_n^{(1)}(x) \ge -M \quad (n \in \mathbf{N}_0).$$

İ. Çanak and Ü. Totur (see [1] and [3]) proved: if for some  $\{M_n\}$  with  $M_n>0$ 

$$\omega_n^{(2)}(x) \ge -M_n \quad (n \in \mathbf{N}_0)$$

and x is (C,1) summable, then x is convergent.

Let us start with the simplest Tauberian theorem using the general control modulo.

**Theorem 1.** If the condition (1.2) is satisfied,

$$\lambda_n V_n^0(\Delta x) = O(1), \tag{2.4}$$

where  $V_n^0(\Delta x) = \frac{1}{n+1} \sum_{k=0}^n \omega_k^{(0)}(x)$ , then  $x \in m^{\lambda}$ .

Proof. As (see [1])

$$\xi_n - \sigma_n(x) = V_n^0(\Delta x),$$

then

$$\lambda_n(\xi_n - \sigma(x)) = \lambda_n(\sigma_n(x) - \sigma(x)) + \lambda_n V_n^0(\Delta x).$$

Using (1.2) and (2.4) we get the assertion of Theorem 1 is valid.  $\square$ 

Let us prove the following statement.

Lemma 1. The assertion

$$\omega_n^{(1)}(x) = \omega_n^{(0)}(x) - \xi_n + \sigma_n(x) \quad (n \in \mathbf{N})$$
 (2.5)

is valid.

*Proof.* Using (2.2) for m = 1 and (2.1) we get for  $n \in \mathbb{N}$ 

$$\omega_n^{(1)}(x) = \omega_n^{(0)}(x) - \sigma_n(\omega^{(0)}(x))$$

$$= \omega_n^{(0)}(x) - \frac{1}{n+1} \sum_{k=0}^n \omega_k^{(0)}(x) = \omega_n^{(0)}(x) - \frac{1}{n+1} \sum_{k=0}^n k \Delta \xi_k$$

$$= \omega_n^{(0)}(x) - \frac{1}{n+1} \left( \sum_{k=1}^n k \xi_k - \sum_{k=0}^n (k+1) \xi_k + (n+1) \xi_n \right)$$

$$= \omega_n^{(0)}(x) - \xi_n + \frac{1}{n+1} \sum_{k=1}^n \xi_k = \omega_n^{(0)}(x) - \xi_n + \sigma_n(x).$$

That means the statement of Lemma 1 is valid.  $\Box$ 

We use the result of Lemma 1 for the proof of the next theorem.

**Theorem 2.** If the conditions

$$\lambda_n \omega_n^{(0)}(x) = O(1), \tag{2.6}$$

$$\lambda_n \omega_n^{(1)}(x) = O(1) \tag{2.7}$$

and (1.2) are satisfied, then  $x \in m^{\lambda}$ .

Math. Model. Anal., 18(1):97-102, 2013.

*Proof.* Using (2.5) we get

$$\lambda_n(\xi_n - \sigma(x)) = \lambda_n \omega_n^{(0)}(x) - \lambda_n \omega_n^{(1)}(x) + \lambda_n (\sigma_n(x) - \sigma(x)).$$

As the conditions (1.2), (2.6) and (2.7) are satisfied the assertion of Theorem 2 is valid.  $\square$ 

Remark 1. The assertion  $(1.3) \Leftrightarrow (2.6)$  is valid.

Now we can prove the following result.

### Lemma 2. The assertion

$$\omega_n^{(2)}(x) = \omega_n^{(0)}(x) - 2\xi_n + 3\sigma_n(x) - \frac{1}{n+1} \sum_{k=0}^n \sigma_k(x) \quad (n \in \mathbf{N})$$

is valid.

Proof. Let 
$$\xi_{-1} = 0$$
. Using (2.2) for  $m = 2$  and (2.5) we get
$$\omega_n^{(2)}(x) = \omega_n^{(1)}(x) - \sigma_n(\omega^{(1)}(x))$$

$$= \omega_n^{(0)}(x) - \xi_n + \sigma_n(x) - \frac{1}{n+1} \sum_{k=1}^{n} (k\Delta \xi_k - \xi_k + \sigma_k(x)).$$

As

$$\sum_{k=0}^{n} \left( k \Delta \xi_k - \xi_k + \sigma_k(x) \right) = \sum_{k=0}^{n} \left( k (\xi_k - \xi_{k-1}) - \xi_k + \sigma_k(x) \right)$$

$$= \sum_{k=0}^{n} k \xi_k - \sum_{k=0}^{n-1} (k+1) \xi_k - \sum_{k=0}^{n} \xi_k + \sum_{k=0}^{n} \sigma_k(x)$$

$$= \sum_{k=0}^{n} k \xi_k - \sum_{k=0}^{n} (k+1) \xi_k + (n+1) \xi_n - \sum_{k=0}^{n} \xi_k + \sum_{k=0}^{n} \sigma_k(x)$$

$$= -2 \sum_{k=0}^{n} \xi_k + (n+1) \xi_n + \sum_{k=0}^{n} \sigma_k(x),$$

then

$$\omega_n^{(2)}(x) = \omega_n^{(0)}(x) - 2\xi_n + 3\sigma_n(x) - \frac{1}{n+1} \sum_{k=0}^n \sigma_k(x) \quad (n \in \mathbf{N}).$$

That means the assertion of Lemma 2 is valid.  $\Box$ 

Using Lemma 2 we get the next assertion.

**Theorem 3.** If the conditions (1.2), (2.6),

$$\lambda_n \omega_n^{(2)}(x) = O(1), \tag{2.8}$$

$$\lambda_n \left( \frac{1}{n+1} \sum_{k=0}^n \sigma_k(x) - \sigma(x) \right) = O(1)$$
 (2.9)

are satisfied, then  $x \in m^{\lambda}$ .

*Proof.* Using Lemma 2 we get

$$2(\xi_n - \sigma(x)) = \omega_n^{(0)}(x) - \omega_n^{(2)}(x) + 3(\sigma_n(x) - \sigma(x)) - \left(\frac{1}{n+1} \sum_{k=0}^n \sigma_k(x) - \sigma(x)\right)$$

and

$$2\lambda_n(\xi_n - \sigma(x)) = \lambda_n \omega_n^{(0)}(x) - \lambda_n \omega_n^{(2)}(x) + 3\lambda_n(\sigma_n(x) - \sigma(x))$$
$$-\lambda_n \left(\frac{1}{n+1} \sum_{k=0}^n \sigma_k(x) - \sigma(x)\right).$$

While the conditions (2.6), (2.8), (1.2) and (2.9) are satisfied we get

$$\lambda_n(\xi_n - \sigma(x)) = O(1) + O(1) + O(1) + O(1) = O(1).$$

That means the assertion of Theorem 3 is valid.  $\Box$ 

Remark 2. The assertion  $(1.2) \wedge (1.4) \Rightarrow (2.9)$  is valid.

Analogically it is possible to prove Lemma 3 and Theorem 4.

### Lemma 3. The assertion

$$\omega_n^{(3)}(x) = \omega_n^{(0)}(x) - 3\xi_n + 6\sigma_n(x) - \frac{4}{n+1} \sum_{k=0}^n \sigma_k(x) + \frac{1}{n+1} \sum_{k=0}^n \frac{1}{k+1} \sum_{\nu=0}^k \sigma_{\nu}(x) \quad (n \in \mathbf{N})$$

is valid.

Using Lemma 3 we get the following assertion.

**Theorem 4.** If the conditions (1.2), (2.6), (2.9),

$$\lambda_n \omega_n^{(3)}(x) = O(1),$$

and

$$\lambda_n \left( \frac{1}{n+1} \sum_{k=0}^n \frac{1}{k+1} \sum_{\nu=0}^k \sigma_{\nu}(x) - \sigma(x) \right) = O(1)$$
 (2.10)

are satisfied, then  $x \in m^{\lambda}$ .

Remark 3. The assertion  $(1.2) \land (1.4) \Rightarrow (2.10)$  is valid.

Math. Model. Anal., 18(1):97-102, 2013.

### References

- [1] İ. Çanak. An extended Tauberian theorem for the (C, 1) summability method. *Appl. Math. Lett.*, **21**(1):74–80, 2008. http://dx.doi.org/10.1016/j.aml.2007.02.012.
- [2] İ. Çanak. A short proof of the generalized Littlewood Tauberian theorem. Appl. Math. Lett., 23(7):818-820, 2010. http://dx.doi.org/10.1016/j.aml.2010.03.017.
- [3] İ. Çanak and Ü. Totur. A Tauberian theorem with a generalized one-sided condition. Abstr. Appl. Anal., 2007. http://dx.doi.org/10.1155/2007/60360. Article ID 60360
- [4] İ. Çanak and Ü. Totur. A condition under which slow oscillation of a sequence follows from Cesàro summability of its generator sequence. Appl. Math. Comput., 216(5):1618–1623, 2010. http://dx.doi.org/10.1016/j.amc.2010.03.017.
- [5] M. Dik. Tauberian theorems for sequences with moderately oscillatory control moduli. *Math. Morav.*, 5:57–94, 2001.
- [6] G.H. Hardy. Theorems relating to the summability and convergence of slowly oscillating series. Proc. Lond. Math. Soc., 8:301–320, 1910. http://dx.doi.org/10.1112/plms/s2-8.1.301.
- [7] G. Kangro. A Tauberian remainder theorem for the Riesz method. Tartu Riikl.
   Ül. Toimetised, 277:155–160, 1971. (in Russian)
- [8] E. Landau. Über die Bedeutung einiger neuen Grenzwertsätze der Herren Hardy und Axer. Prace Mat. Fiz., 21:97–177, 1910.
- [9] I. Tammeraid. Tauberian theorems with a remainder term for the Cesàro and Hölder summability methods. Tartu Riikl. Ül. Toimetised, 277:161–170, 1971. (in Russian)
- [10] İ. Çanak, Ü. Totur and M. Dik. One-sided Tauberian conditions for (A, k) summability method. Math. Comput. Modelling, 51(5-6):425-430, 2010. http://dx.doi.org/10.1016/j.mcm.2009.12.005.
- [11] Ü. Totur and M. Dik. Extended Tauberian conditions for (C, 1) summability method. Appl. Mat. Lett., 24(1):66-70, 2011. http://dx.doi.org/10.1016/j.aml.2010.07.016.